
Name:    KEY            Math 1   
 

Unit 1.4  Literal Equations and Formulas 

 
Solve each equation for the indicated variable.  
 

1.  𝑔 =
𝑥

𝑐
 , 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥 

 

𝑔 =
𝑥

𝑐
   Write the original problem 

 

𝑐 ∙ 𝑔 =
𝑥

𝑐
 ∙ 𝑐  Multiply both sides by c 

 
𝑐𝑔 = 𝑥   Simplify 
 
 
3.  𝑧 = 𝑎𝑚, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑎  
 
𝑧 = 𝑎𝑚   Write the original problem 

 
𝑧

𝑚
=

𝑎𝑚

𝑚
   Divide by m to both side 

 
𝑧

𝑚
= 𝑎   Simplify 

 
 
5.  𝑢 = 𝑎 − 𝑘, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑎  
 
𝑢 = 𝑎 − 𝑘   Write the original problem 
 
𝑢 + (𝑘) = 𝑎 − 𝑘 + (𝑘)  Add k to both side 

 
𝑢 + 𝑘 = 𝑎   Simplify and Combine like terms 
 
 
7.  𝑔 = 𝑐 + 𝑎, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑎      
 
𝑔 = 𝑐 + 𝑎   Write the original problem 
 
𝑔 − (𝑐) = 𝑐 − (𝑐) + 𝑎  Subtract c from both side 

 
𝑔 − 𝑐 = 𝑎   Simplify and Combine like terms 
 
 
 
 
 
 
 
 
 
 
 
 
 



9.  𝑧 = 𝑏 + 𝑚𝑎, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑎  
 
𝑧 = 𝑏 + 𝑚𝑎   Write the original problem 
 
𝑧 − (𝑏) = 𝑏 − (𝑏) + 𝑚𝑎 Subtract b from both side 

 
𝑧 − 𝑏 = 𝑚𝑎   Simplify and Combine like terms 
 
𝑧−𝑏

𝑚
=

𝑚𝑎

𝑚
   Divide by m to both side 

 
𝑧−𝑏

𝑚
= 𝑎   Simplify 

 
 
11.  𝑚 − 𝑥 = 𝑝 − 𝑛, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥    
 
𝑚 − 𝑥 = 𝑝 − 𝑛    Write the original problem 
 
𝑚 − (𝑚) − 𝑥 = 𝑝 − 𝑛 − (𝑚)  Subtract m from both side 

 
−𝑥 = 𝑝 − 𝑛 − 𝑚   Simplify and Combine like terms 
 
−1 ∙ (−𝑥) = −1 ∙ (𝑝 − 𝑛 − 𝑚)  Multiply both sides by −1 
 
𝑥 = −1 ∙ (𝑝) − 1 ∙ (−𝑛) − 1 ∙ (−𝑚) Distribute 
 
𝑥 = −𝑝 + 𝑛 + 𝑚   Simplify 
 
 
13.  𝑘𝑥 = 𝑤 − 𝑣, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥   
 
𝑘𝑥 = 𝑤 − 𝑣    Write the original problem 
 
𝑘𝑥

𝑘
=

𝑤−𝑣

𝑘
    Divide by k to both side 

 

𝑥 =
𝑤−𝑣

𝑘
    Simplify 

 
 
15.  𝑎 + 𝑚 = 𝑏 + 𝑛 + 𝑝, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑎      
 
𝑎 + 𝑚 = 𝑏 + 𝑛 + 𝑝   Write the original problem 
 
𝑎 + 𝑚 − (𝑚) = 𝑏 + 𝑛 + 𝑝 − (𝑚) Subtract m from both side 
 
𝑎 = 𝑏 + 𝑛 + 𝑝 − 𝑚   Simplify and Combine like terms 
 
 
 
 
 
 
 
 
 



17.  𝑧 =
𝑝+𝑛

𝑥+𝑚
, 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥     

 

𝑧 =
𝑝+𝑛

𝑥+𝑚
    Write the original problem 

 

(𝑥 + 𝑚) ∙ 𝑧 =
𝑝+𝑛

𝑥+𝑚
∙ (𝑥 + 𝑚)  Multiply both sides by (𝑥 + 𝑚) 

 
(𝑥 + 𝑚) ∙ 𝑧 = 𝑝 + 𝑛   Simplify 
 
(𝑥+𝑚)∙𝑧

𝑧
=

𝑝+𝑛

𝑧
    Divide both sides by 𝑧 

 

𝑥 + 𝑚 =
𝑝+𝑛

𝑧
    Simplify 

 

𝑥 + 𝑚 − (𝑚) =
𝑝+𝑛

𝑧
− (𝑚)  Subtract m from both side 

 

𝑥 =
𝑝+𝑛

𝑧
− 𝑚    Simplify 

 
 


